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It is taken by estimation - TIAINR NV

Overview

X973 12 TTYOR KX states that 7170 (and Wwyn NmN) are 728D NPY. Seemingly this
would merely mean that one may be 72R% w151, However n1901n explains that it is
preferred (a mxn) that it should be 78n NHY21.

- 199 Py 5N MND YV XYY DYNYY KW TINNT 1RIND DYINY N8N
It is a mx3» to be separate (n"7n7) 7170 by estimation, for since he is reluctant
to be w151 the precise amount, for he may be taking less than the required

amount, therefore he will take 7170 with a ‘good eye’ (more than the required
amount) —

moDIN proves his point that 728» NV°1 means that it is a ¥ (not only a MwM):
- 219313 X9 YPWNA XY 7193 XY PHRNN PR ¢t nawn MNINT NID 9993 13019

And the mwn» taught in the first P95 of nyan noon; ‘one should not be 2910,

neither by measure, not by weight, nor by count’ -
= HAYNNIAY TIINA NIN DDV NN NPT N12I9N NN 19209 ’NN2DINI AUYN NN 1

And (adds '01n) the same applies (presumably) to 2''"n. And in the Xnsown the

text reads; ‘just as 3''2n is taken only by 728 and mawnms -
=991 1IN NIN NYV NN TYYN NN N

So too »''7n is not taken only by 7RI, etc. In the xnooin it clearly states that it should be
separated only TmX32, but not through measuring precisely. In conclusion, optimally one should
be TmIR2 WDn.

mooIn asks:
=959 NAYN 71991 NAIVYN smmn 35 MDY 4N)Di7 7992347 99NN ON)

And if you will say that in (the first ?99) of ny2yn ndon, the mw» taught, ‘one

! When a person measures precisely the amount to be separated, he will give the proper amount (no more and no
less); however when he is merely estimating how much to separate he will err on the side of caution and give more
than the required amount (in order to be sure that he does not give less than the required amount [which may make
his 171 to still be Yav]). This will benefit the 1775 (and/or the »17).

% 77 would mean that there is a measuring cup (for instance) and you are (2"7n) w*on a tenth of the volume of the
cup; 2pwn would mean that the produce is weighed and a tenth is given for n"1n; 11 would mean that the produce
(figs) are counted and a percentage is set aside for n"7n. In any event it is apparent from this ;772wn that the 7m0
should not be done through precise measurement, but rather (presumably) through an estimation.

? A marginal note indicates that this X500 was not found

* The X"w"mn amends this to read [ mawn] "7 P79 (instead of Rnp P1).

> See footnote # 2 for an explanation of these three types of measurement.
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who counts is praiseworthy, and the one who measures is more praiseworthy -
- SynwHun NN YPIwm

And the one who weighs is the most praiseworthy of all three’ -

MooIN answers:
= AYUYN HNMINI NI NDITH HMIINI IR WM NIMINT RNDP 7993 NY NYPN IoWINA

The s»b217° 71170 asks this question in the first P25 of n1»mn noon and answers,
‘here it is by 2''n (it needs to be 72X»), and here it is by 2''n (it needs to be precise)

- 193102 N9 YPUNA N9 D192 XY 1R PRY 1230 IN 'NII) 12 TN N
For we learned in a Xn»=2 that 3''2N states, ‘from where do we derive that one

is not 270 neither ;77723, nor ®pwna, nor M2 -
= 193192 YPYNA H7192 999 NNN AN DN NHN NAYNNI DINMIIN DY AVNN 9D NHdn

For the 7109 teaches us by saying 'zasn»ian ash awn'; you should be 270 with

thought, but you should not be 290 with 12321 Hpwn 7771°° this concludes the “now1 -
= TRIND NN RNIDY 221957 NYIT NNIINA 199N PPNT NINN Swivs

The explanation of this answer is; that 7wn of P»™IWn PR by measuring is

discussing 3''\n where according to everyone the 71%% is to be T2IN% 2710 -
= 132929 9YYN 119N NIV ANNNT NI

And that 71wn which states manen 71m57 is discussing 2''9n according to the 1129
who argue with 2"28X and maintain that »"1n needs to be precise.

mooIn responds to an anticipated difficulty:
- 9mun NN 19597 11INWYNY XYM 12 TTYIN NINT NI 311107 NN

And this that he brings the Xn>»2 of »''2K8R, that is to inform us that they (the
7127 and 2"2RX) argue regarding »''9n.

® Being 0N by weight is the most precise manner of achieving a precise percentage; by counting one piece may be
larger or smaller; by measuring volume it may have not settled properly in the measuring cup; weighing is the most
precise. In any case it is evident from this 71w» that more precise the better it is, so obviously one should certainly
not be 723%2 oMn! This contradicts the 71w (in 7" 8"9) cited previously that one should not be 131 7712 o7n!

7 This is (presumably) the same 3" 2K in our X723

¥ The word ‘w1’ in '010 indicates that that the explanation is not the way it appears to be. The initial words of the
"n7w17 which state, 'n"na 185 3”702 X%2' would indicate that everyone agrees that by 3"7n we need 72, but not by
n"an. Therefore 'o1n clarifies that by 3"1n indeed all agree that 72 is necessary, however by »"2n there is a np17nn
whether 72X is required (3"2RX) or 111 is required (the 13127). See ‘Thinking it over’ # 1.

? Mmoo may be asking, since by 3" all agree that it needs 7%, why cite 3"28x at all, since regarding 3"n all agree
that we require 72X and regarding »"2n the 71wn follows the 1127, so why mention 3"2XX at all?!

10 msoin replies (see footnote # 9) that we derive the view of the 1127 that »"9n is not T2W%» N7 from the fact that
the Xn»12 states that it is 3"28X (only) who maintains that »"9n is 7% n2v2, implying that the 1321 disagree.
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NN asks:
= HAIWN NI INNN NAIYN NINNNT RIDIN 99127 9NN ON)

And if you will say, in the s»w7° regarding that'' mawn that the counter is

praiseworthy,"> he asks, ‘he is praiseworthy more than what’?"?
= NAYN NIMIT XIN D299 NN TIINNDT ¥IYN TRIND DIND 11D NI 29 99N

7''s answered that 717 1s 72W7» more than one who i1s 72I18% 2910, This concludes
the citation from the n>w17°. Our NIBOIN continues; it seems that TRIR® is also

719N, however 71192 is praiseworthy -
- nwiun Nawn YPIVA 19 NN PRNNN Y9N 39 YR DNN 393 TNIND)

And the "n5>u1 also states there, 71''™ said our mw» also states so as X117 29
indicated, for the miwn stated that the one who weighs is most praiseworthy

more than all three -
- YownM 93 AYHY NIINT S99 VI

The explanation of the inference is that there are three besides the ‘weigher’
- ©Y99 NN PPV NX MY PINYHYA TN9%N RIIN 239 ININ VINRD 991 N2

And afterwards the "»n5u17 states, n1'' says interpret it to say, ‘of the three’ so

you cannot derive any proof from the 71wn to 177 27. This concludes the citation from the
"»ow1. In any event it is apparent (at least according to X177 " and 971 " that 7K is acceptable
(by n"7n). So MooIn asks -

= TIND MVYYT NIMYN NINI 12 9TYIN NANRDY TNIND TYYNI DN PR 1NTITD 1929 IN)

And if they are discussing the 3139, according to them there is no 728» »''an at

all, and according to 2''aRN it is a ;71%% to take TRIN® 17N -
- 7AYNNI) TAIND RIN N9V NPX TWPN NN 9N *NNavINa sanDT

As it states in the Xnp®n, ‘so also »''"n may not be taken only 7awmnay 7282,
The question is who maintains that 2"7n can be taken 72%7 but it is not m21wWn?!

MooIN answers:
= PN MIVYT MINM PN JAR NN NN TRINNDT 1T 19297 91217 U

And one can say; that the 3139 agree that 728» will be a proper Wwyn n»I9n;
however there is no 713» to do it 728" (therefore he is not n2Wwn) -

" This is the 71wn which we established by n"1n according to the 3321.

2 See the text by footnote # 5.

13 We understand what it means that 777 is more n2Wn than 717, meaning that 71 is fine but 77 is even better.
When we say that 71 is n2wn» that means it is better than something else; what is this other way of separating
which is w2, but it is not 2wWn?

" 3nwHwn mawn indicates that he is more praiseworthy than the other three; namely 7771 727 T,

'> The mwn should be understood (to read) Jnw>wa nawn, which means that he is the most praisweworthy of the
three; namely 2w 779 111, See ‘Thinking it over’.

' This is the XN mentioned in the beginning of this Mo2N. See footnote # 3.
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- 7119013 N299) 2919 1999913 KON 799 TNXY 19199102 MIYYN N291 2PUN RS
And we will need to say that when one intends to estimate properly it is not
considered mwyna 739% (so P2PPR YMwyn) if it happen to be more, unless he
intends to add more and he adds more intentionally —

Mmoo responds to an apparent difficulty:

12910 0NN NHY P95 XYY NDMY J1a HMYHN NAND YD) %29 N PNT MINDAT NOAM
1)9nna

And that Xn™92 in n22 noon,'® which "' established it according to 3''axx

and not according to the 1131," perhaps there® he was adding more Wwy»

intentionally.*!

Summary
According to 3"28X one should take wvyn (including 7"vn and »n"7n) only TIRA.

However according to the 1127 only 1"7n should be taken 7218n but not mAwyn.
However it is valid (but not 121wn) if one took 72Rn Wy,

Thinking it over
1. Why did not the *»5w11> answer™ that one mwn (which requires W) is

according to 1"2RX, and the other mwn (which requires precision) is according to
the 71277

2. What would the ruling be (according to 3"28X) if he was »n"7n w>19n exactly; is it
a proper N7

3. What is the purpose of moon citing the statement of X211 ' that jnwowa 1noon;>
it (seemingly) does not add anything to the question?!

' This phrase 712012 72771 N1277% 119012 would seem to be repetitive.

' See previous ow> 7"7 '0n TIE (text by) footnote # 9 and further. See also footnote # 19 there.

' Seemingly the 1321 also agree that one may take T2X2 »"n, why was it necessary to establish a Xn™12 according
to an individual, instead of according to the majority opinion

' When he was 2wyn one from ten; he intentionally took a larger animal for the 7nm2 Twyn.

2! Where it is intentional the 1337 maintain that PP PRWYA.

2 See footnote # 8.

> See footnote # 15.
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